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MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

ALGEBRAIC IDENTITIES

1 1
1Lifz* + — = 47, find the value of z* + —
T x3

o Watch Video Solution

1 1 1 1
2.Ifzc4—|——4 = 194, ﬁnd:c?’—|——3,a:2—|——2anda:—|— —
x x x x

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MVQPBxurT1KN
https://dl.doubtnut.com/l/_I765UKHkTVFe
https://dl.doubtnut.com/l/_tkUX3QKaYpn8

1 3 1
3.fx — — =7, find the value of z° — —
x 23

o Watch Video Solution

(a® — b2)3 + (0% — c2)3 + (& - a2)3

4. Simplify:
Pty (a—b*+b-0*+(c—a)’

o Watch Video Solution

5. Find the value of 4z? + y® + 2522 + 4y — 10yz — 20zz when

x=4,y=3and z = 2.

o Watch Video Solution

6.1fa’> + b2+ =250and ab + bc +ca =3, inda+ b+ ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_tkUX3QKaYpn8
https://dl.doubtnut.com/l/_34tUYPBjUtT1
https://dl.doubtnut.com/l/_oXMuNIotYLQ9
https://dl.doubtnut.com/l/_BzyweO0Y4fvF
https://dl.doubtnut.com/l/_2hCog5AqQb0z

7. 1f a+b+c=6 and ab+bc+ ca =11 , find the value of

a® + b + ¢ — 3abe

° Watch Video Solution

8. Find the following products:
(i) (z + y + 22) (:132 + % 4+ 422 — 2y — 2yz — 212)

(i)(2z — y + 32) (4332 +y? + 92% + 22y + 3yz — 6mz)

o Watch Video Solution

1 1
9.Ifz — — = — 1, find the value of 2% + —
x 72

o Watch Video Solution



https://dl.doubtnut.com/l/_2hCog5AqQb0z
https://dl.doubtnut.com/l/_KLEvP79VPh2N
https://dl.doubtnut.com/l/_Iv2LmdpU2CRN

10. If a2+ +c—ab—bc—ca=0, then find the relation

between a,b and ¢

Aa=b= —c¢
Ba=b=c¢c
Ca= —b=c¢c
D.—a=b=c
Answer: B

o Watch Video Solution

1M.1f 922 + 25y® = 181 and zy = — 6, find the value of 3z + 5y

o Watch Video Solution

12.if a-b=6 , ab=20 . find a®> — b°


https://dl.doubtnut.com/l/_m5DbgSRq4WUH
https://dl.doubtnut.com/l/_S8jHsGw4D8Yb
https://dl.doubtnut.com/l/_PaSsQYrtK3O0

o Watch Video Solution

13. Write the following in expanded form: (i)(9:n+2y+z)2 (ii)

(3z + 2y — 2)2 (iii)(z — 2y — 32)% (iv) ( — = + 2y + 2)°

o Watch Video Solution

14. Prove that a® + b? + ¢ — ab — bc — ca is always non-negative for

all values of a, b and c.

° Watch Video Solution

15.1fa + b+ ¢ = 9and ab + bc + ca = 40, find a®> + b +

° Watch Video Solution



https://dl.doubtnut.com/l/_PaSsQYrtK3O0
https://dl.doubtnut.com/l/_WlT1qnN5nfKM
https://dl.doubtnut.com/l/_AoFtpaF8mDWs
https://dl.doubtnut.com/l/_CCX4ft9WlgIP

16. Simplify :
(i)(a 4+ b+ c)?

(i) (a+b+c) —(a—b—c)?

o Watch Video Solution

1 1
17.1f 2% + — = 98, find the value of z* + —
x x3

o Watch Video Solution

18. Simplify the

723 + 8y® — (4x + 3y)(16zzz2 — 122y + 9y2)

following:

o Watch Video Solution

19.1fa — b = 6 and ab = 20, find the value of a® — b

| -


https://dl.doubtnut.com/l/_7R1t0lyZVv9Z
https://dl.doubtnut.com/l/_e8TjLfZeaRpd
https://dl.doubtnut.com/l/_IzEoAGaO33VX
https://dl.doubtnut.com/l/_BCOC39fZv6NJ

| & Watch Video Solution

20.Ifa + b = 10 and ab = 21, find the value of a® + b°

° Watch Video Solution

21.1f 42 + y* = 40 and zy = 6, find the value of 2z + y.

o Watch Video Solution

22.1f a + b = 7and ab = 12, find the value of (a2 —ab+ b2)

o Watch Video Solution

1 1
23.1f 22 + — = 83. find the value of z° — —
T T

o Watch Video Solution



https://dl.doubtnut.com/l/_BCOC39fZv6NJ
https://dl.doubtnut.com/l/_Bv76zOMkutu2
https://dl.doubtnut.com/l/_v8BoXU6ELLG2
https://dl.doubtnut.com/l/_6VEJvNJW5h2u
https://dl.doubtnut.com/l/_dREkOwi1wa29

Q4. fx+y+z=1zy+yz+z2x = —landzyz = — 1, find the

value of 2% 4 ¢ + 23

o Watch Video Solution

25. Find the following products:

(i) (0. 9z + 0. 7y) (0. 812> — 0. 63zy + 0. 49y°)
(2 3y\ /9y 4z® bxy
(”)(? _7>( 19 "5 3B

o Watch Video Solution

26. If a+b+c=15 and a® +b> + ¢ =83, find the value of

a® + b + ¢ — 3abe

° Watch Video Solution



https://dl.doubtnut.com/l/_dREkOwi1wa29
https://dl.doubtnut.com/l/_5CBtaD00DpUs
https://dl.doubtnut.com/l/_zoYq7h58AlNe
https://dl.doubtnut.com/l/_G6xxNJRrqryf

27. Without actually calculating the cubes. Find the value of each of
the following:
i) (—12)° + 7 4 5°

(i) (28)° + (— 15)% + ( — 13)®

o Watch Video Solution

28. If a+b+c=9 and o>+ b +c® =35, find the value of

a® + b + ¢ — 3abe

° Watch Video Solution

1 1
29.1f 3 — — =3+ 2v/2 , find the value of 2® — —
xr

° Watch Video Solution



https://dl.doubtnut.com/l/_uhYs7VITA1Qs
https://dl.doubtnut.com/l/_J4bdNbI3Rmtc
https://dl.doubtnut.com/l/_36iKoSfHre8e

30.If z + y = 12and zy = 32, find the value of 2% + y*.

o Watch Video Solution

31.If 3z + 2y = 12 and zy = 6, find the value of 922 + 4y

o Watch Video Solution

1
32.Ifx + — =6, find
x

o Watch Video Solution

1
33.1f 22 + — = 27, find the values of each of the following:
x

. 1
(e + —
XL


https://dl.doubtnut.com/l/_dMbKbSkKAOWb
https://dl.doubtnut.com/l/_5iciRGAoek4J
https://dl.doubtnut.com/l/_NLWXyfVWj0Qd
https://dl.doubtnut.com/l/_kfWvx0MzHrYP

(i)z — —
T

o Watch Video Solution

34.Find the products:
(i) (2z + 3y)(2z — 3y)

(i)(z — 1)(z + 1) (2® + 1) (z* + 1)

° Watch Video Solution

35. Without actually calculating the cube: ( — 12)3 + 7 45

° Watch Video Solution

36. Expand each of the following:
(i)(3z + 4y)*

(ii) 3z — 4y)*



https://dl.doubtnut.com/l/_kfWvx0MzHrYP
https://dl.doubtnut.com/l/_yPHMssvDdq3e
https://dl.doubtnut.com/l/_fdKtRZBccwAX
https://dl.doubtnut.com/l/_m99P0YRaB2zA

| o Watch Video Solution

1 3 1
37.1f x — — = 3, find the value of z° — —

° Watch Video Solution

38.1f 2z + 3y = 13 and zy = 6, find the value of 823 + 27y3

o Watch Video Solution

39.Ifa + b = 10 and a® + b*> = 58, find the value of a® + ¥°

o Watch Video Solution

1 1
40.If ¢ + — = 7, find the value of z° + —

o Watch Video Solution



https://dl.doubtnut.com/l/_m99P0YRaB2zA
https://dl.doubtnut.com/l/_Yk9RNCd5UuQ8
https://dl.doubtnut.com/l/_JouUDo3F5bsi
https://dl.doubtnut.com/l/_qVa9jdv8OLHM
https://dl.doubtnut.com/l/_CPp2XytSIlAj

41. Simplify each of the following expressions:

2 Yy o oz\2 x Yy  z\2
(z +y+2) -|—(x—|—2—|—3) —(2+3+4)

(i)

o Watch Video Solution

42.simplify : (4z + 2y)° + (4z — 2)°

o Watch Video Solution

43.If x +y = 12and zy = 27, find the value of z* + ¢3

° Watch Video Solution

44, Prove

that:

2a% + 2b* 4 2¢® — 2ab — 2bc — 2ca = [(a - b)2 + (b — c)2 + (c — a)z}

| nlll,L,l,l'!,l,, o~ _01__n°*_ __


https://dl.doubtnut.com/l/_CPp2XytSIlAj
https://dl.doubtnut.com/l/_R0v9525ArJnv
https://dl.doubtnut.com/l/_SeIhsve1bKBt
https://dl.doubtnut.com/l/_aIRfUq7RUXz3
https://dl.doubtnut.com/l/_Yjy9KAA9Tqis

| " Vvaldn vVIACO SO1ution

45. Expand each of the following (i) (3z + 4y)° (i) (3z — 4y)°

° Watch Video Solution

46. Expand each of the following

() (v3z — 3y)°

1\2
(i) (233 — 3—33)

o Watch Video Solution

47. Expand each of the following

0(5-3)

(i) (z + 5)(z — 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_Yjy9KAA9Tqis
https://dl.doubtnut.com/l/_bOTlcBOFomQT
https://dl.doubtnut.com/l/_FDBI7FYhOZ7J
https://dl.doubtnut.com/l/_xnpDLNDBnTUQ

48. Find the products:
()(2z + 3y) (2z — 3y)

(i) (2 — 1)(z + 1) (* + 1) (24 + 1)

o Watch Video Solution

49, Find the products:
1 1 9 1 4 1
cT——]lz+ =2+ — T+ —
T T $2 $4

° Watch Video Solution

50. Find the products:

() (22 + y) (22 — y) (42* + *)
(i) (:c—%—l) (a:—l—%-l—l)

o Watch Video Solution



https://dl.doubtnut.com/l/_nnxxDOfLAgJp
https://dl.doubtnut.com/l/_2NKLa1kX5dHT
https://dl.doubtnut.com/l/_qJCLgpJquyTj
https://dl.doubtnut.com/l/_TSiTxQzLtLie

51. Evaluate each of the following by using identities: (i)103 x 97 (ii)

103 % 103 (iii) (97)°

° Watch Video Solution

52. Evaluate each of the following by using identities:
(i)(0. 99)°

(i) 185 x 185 — 115 x 115

° Watch Video Solution

53. Evaluate each of the following by using identities: (i)

0.54 x 0.54 — 0.46 x 0.46 (i) 103 x 107

° Watch Video Solution



https://dl.doubtnut.com/l/_TSiTxQzLtLie
https://dl.doubtnut.com/l/_qkm6OhZLAR3g
https://dl.doubtnut.com/l/_5YUstrSDPt1f

54. Evaluate each of the following by using identities: ()95 x 96 (ii)

104 x 96 (iii) 105 x 106

° Watch Video Solution

1
55.1f z + == 6, find: 2> + 1/x?

° Watch Video Solution

1
56.1fz + — = 6, find: 2 + —
xr 1;4

° Watch Video Solution

1 1
57.1f z2 + — = 27, find the value of each of the following:  + =
x

° Watch Video Solution



https://dl.doubtnut.com/l/_EvlZAhUsEQ27
https://dl.doubtnut.com/l/_cD8Tfv02MXUv
https://dl.doubtnut.com/l/_vWlptc8ENJLI
https://dl.doubtnut.com/l/_uaf4TD9qyGB8
https://dl.doubtnut.com/l/_DcxFI4yQo09v

1 1
58, If 2 + — = 27, find the value of each of the following:  — =
x

° Watch Video Solution

59.If z +y = 12 and zy = 32, find the value of 2 + 3

° Watch Video Solution

60.1f 3z + 2y = 12 and zy = 6, find the value of 9% + 4>

° Watch Video Solution

61.1f 42% + y? = 40 and zy = 6, find the value of 2z + y

° Watch Video Solution



https://dl.doubtnut.com/l/_DcxFI4yQo09v
https://dl.doubtnut.com/l/_V4bSQNPISlu8
https://dl.doubtnut.com/l/_XEt6Bwr9k01L
https://dl.doubtnut.com/l/_kPV6uEgYF0Bc

62. Prove that:

20> + 2b° + 2¢% — 2ab — 2bc — 2ca = [(a — b2+ (b—0c) + (c— a)Q}

° Watch Video Solution

63.If:a2—|—b2—|—02—ab—bc—ca:O,provethata:b:c

° Watch Video Solution

64. Evaluate each of the following using identities:

2
(i)<2:1; — i)
T

(i) 2z + y)(2z — y)

o Watch Video Solution



https://dl.doubtnut.com/l/_iWlB9zbmJDzS
https://dl.doubtnut.com/l/_wN0Awwg2S08p
https://dl.doubtnut.com/l/_icEL62W7jEOQ

65. Evaluate each of the following using identities:
(i)(azb — bza)2

(i) (@ — 0.1)(a + 0. 1)

o Watch Video Solution

66. Evaluate each of the following wusing identities:

(1. 52% — 0. 3y?) (1.52° + 0. 3y?)

o Watch Video Solution

67. Evaluate each of the following using identities: (i)(399)2(ii)

(0. 98)?

° Watch Video Solution



https://dl.doubtnut.com/l/_crHFW5DnyNGs
https://dl.doubtnut.com/l/_8UvVqTqqujd0
https://dl.doubtnut.com/l/_FtAjQu6RsOcG

68. Evaluate each of the following using identities: (i)991 x 1009 (ii)

117 x 83

° Watch Video Solution

69. Simplify each of the following:
175 x 175 +2 x 175 x 25+ 25 x 25

o Watch Video Solution
70. Simplify each of the following:

322 x 322 —2 x 322 x 22+ 22 x 22

o Watch Video Solution



https://dl.doubtnut.com/l/_GJZrEna7mJIP
https://dl.doubtnut.com/l/_mI0Wdr8EOvyL
https://dl.doubtnut.com/l/_R8G4dw6Z5mWV

71. Simplify each of the following:

0.76 x 0.76 +2x 0.76 x 0.24+0.24 x 0.24

° Watch Video Solution

7.8 x 7.83—-1.17 x 1.17

72. Simplify each of the following: 566

° Watch Video Solution

1 1
73.If z + — = 11, find the value of 2% + —
xT 332

° Watch Video Solution

1 1
74.1fz — — = — 1, find the value of 2% + —
xXr 1;2

° Watch Video Solution



https://dl.doubtnut.com/l/_yEmX9yqyIKya
https://dl.doubtnut.com/l/_L4FJicUwGCWC
https://dl.doubtnut.com/l/_0OrYhKqeZDzZ
https://dl.doubtnut.com/l/_MmDn8FisloGv
https://dl.doubtnut.com/l/_8DU45vXx77Lz

1 1 1
75.1f z + — = /5, find the values ofx? + — andz* + —

o Watch Video Solution

1 1
76.1f 22 + — = 66, find the value of z — —
x2 T

° Watch Video Solution
N 1 1
77.1f x° 4+ — =179, find the valueof z + —
x? x

° Watch Video Solution

78.1f 922 + 25y° = 181 and zy = — 6, find the value of 3z + 5y

° Watch Video Solution



https://dl.doubtnut.com/l/_8DU45vXx77Lz
https://dl.doubtnut.com/l/_MpWm7LirxFOB
https://dl.doubtnut.com/l/_MfMbbmFzYPA5
https://dl.doubtnut.com/l/_ohu9WXPDY1qx

79.1f 2z 4+ 3y = 8 and zy = 2, find the value of 422 + 9y>

o Watch Video Solution

80.1f 3z — Ty = 10and zy = — 1, find the value of 922 + 49y>

o Watch Video Solution

81. Simplify each of the products:

L 3b|(3b L L2 9p?
Ea;— +§a/ Za—|—

° Watch Video Solution

3
82. Simplify each of the products: (m + %) (m — ﬁ)

o Watch Video Solution



https://dl.doubtnut.com/l/_mxt5RLQCbNa8
https://dl.doubtnut.com/l/_FCMBDLY7k4eX
https://dl.doubtnut.com/l/_hU6rGRwrvbBJ
https://dl.doubtnut.com/l/_9LeiNkzIBvS2
https://dl.doubtnut.com/l/_K9m9ZlkFFtL2

| 8
o

. 2 2 x N
83. Simplify each of the products: — == -+ 2z

o Watch Video Solution

84. Simplify each of the products: (az2 +x — 2) (332 —z+ 2)

o Watch Video Solution

85. Simplify each of the products: (:133 — 3% — :c) (332 — 3z + 1)

o Watch Video Solution

86. Simplify each of the products: (2x4 — 4z? + 1) (2334 — 4z? — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_K9m9ZlkFFtL2
https://dl.doubtnut.com/l/_Q4G9v86HKdQ9
https://dl.doubtnut.com/l/_gw5I1sk6iYsx
https://dl.doubtnut.com/l/_sB5wmc6wY2xU

87. Prove that a® + b® + ¢ — ab — bc — ca is always non-negative for

all values of a, band c

° Watch Video Solution

88. Write the following in expanded form: (9z + 2y + 2)> (i)
(3¢ + 2y — 2)° (z — 2y — 32)° (iv) (—z+2y+2)°

1 1 2

o Watch Video Solution

89. Write the following in expanded form:
(92 + 2y + 2)2

(i) 3z + 2y — 2)°

° Watch Video Solution



https://dl.doubtnut.com/l/_0S7xYT5DTU8v
https://dl.doubtnut.com/l/_oyW1uDPk1syE
https://dl.doubtnut.com/l/_jZ5wian0tO7A
https://dl.doubtnut.com/l/_GBdzDz1er9h6

90. Write the following in expanded form:

NE 1b 12
(I)(ZG_E + )

(ii) ( — 2z + 5y — 32)°

o Watch Video Solution

91.Simplify: (a + b+ ¢)> + (a — b —¢)?

o Watch Video Solution

92. Simplify: (a + b+ ¢)> — (a — b — ¢)*

o Watch Video Solution

93.Ifa’? + >+ =20anda+b+c=0,find ab + be + ca

° Watch Video Solution



https://dl.doubtnut.com/l/_GBdzDz1er9h6
https://dl.doubtnut.com/l/_Byw5N1N9DsGe
https://dl.doubtnut.com/l/_Q8L2f5CPXhxo
https://dl.doubtnut.com/l/_32X00httCwbA

94.1fa +b+c=9and ab + bc + ca = 40 ,find a® + b*> + &

o Watch Video Solution

95.1fa? + > +c® =250andab+bc+ca=3,inda+b+c

o Watch Video Solution

96. Write the following in the expanded form:
(i)(a + 2b+ c)?

(ii) (2a — 3b — ¢)*

o Watch Video Solution

97. Write the following in the expanded form: ( — 3z + y + 2) (i)

(m + 2n — 5p)*


https://dl.doubtnut.com/l/_32X00httCwbA
https://dl.doubtnut.com/l/_wZmkge6bdj5O
https://dl.doubtnut.com/l/_YuytRyvQOVQd
https://dl.doubtnut.com/l/_jblWOIAiaCBV
https://dl.doubtnut.com/l/_fEUxERdsHGEO

° Watch Video Solution

98. Write the following in the expanded form:
()2 + z — 2y)°

(i) (a2 + b* + &2)°

° Watch Video Solution

99. Write the following in the expanded form:

(i)(ab + be + ca)?

2
m<3+2+3>
y z

° Watch Video Solution

100. Write the following in the expanded form: (z + 2y + 4z)2

° Watch Video Solution



https://dl.doubtnut.com/l/_fEUxERdsHGEO
https://dl.doubtnut.com/l/_FpPh6IskGSF7
https://dl.doubtnut.com/l/_k599MzYmU8P7
https://dl.doubtnut.com/l/_xBonEYmPVJCl

101. Write the following in the expanded form:

)2z — y + 2)°

o Watch Video Solution

102. Simplify: (a + b+ ¢)> + (a — b+ )

o Watch Video Solution

103. Simplify: (a + b+ ¢)> — (a — b+ ¢)

o Watch Video Solution

104.Simplify: (a + b+¢)’ + (a—b+¢)°+ (a+b—c)

o Watch Video Solution



https://dl.doubtnut.com/l/_xBonEYmPVJCl
https://dl.doubtnut.com/l/_espLEeDJJJKL
https://dl.doubtnut.com/l/_UZG9YFYSiaR4
https://dl.doubtnut.com/l/_eSl6mjLnWYJF
https://dl.doubtnut.com/l/_nOL31aagDYSE

105. Simplify: (22 + p — c)2 — (2z —p+ c)2

o Watch Video Solution

106. Simplify: (:c2 + 9 — z2)2 — (332 — i+ z2)2

o Watch Video Solution

107. f a+b+c=0 and a> + b+ = 16 , find the value of

ab + be + ca

° Watch Video Solution

108. If a® + b* + ¢ = 16 and ab + bc + ca = 10 , find the value of

a+b+c

| o Watch Video Solution


https://dl.doubtnut.com/l/_nOL31aagDYSE
https://dl.doubtnut.com/l/_xyIsUbS4V93X
https://dl.doubtnut.com/l/_2BM81NFUo5jn
https://dl.doubtnut.com/l/_Ahgx64N1EC2v
https://dl.doubtnut.com/l/_TplyF9tEzsko

109. If a+b+c=9 and ab + bc+ ca = 23 , find the value of

a’> + b+

o Watch Video Solution

110. Find the value of 4z2 + y? + 2522 + 4zy — 10yz — 20zz when

x=4, y=3andz =2

° Watch Video Solution

2 2
111.Simp|ify:(x—|—y+z)2+ (m—l—%—l— %) — (% +%+ %)

° Watch Video Solution

112. Simplify: (z + y — 2;:)2 — 2% —y? — 322 + day



https://dl.doubtnut.com/l/_TplyF9tEzsko
https://dl.doubtnut.com/l/_76qQTn3nvYzJ
https://dl.doubtnut.com/l/_StFyuZ2lG2TM
https://dl.doubtnut.com/l/_WnZNLQ8JTPXl
https://dl.doubtnut.com/l/_lspsvGuuex7E

| o Watch Video Solution

113. Simplify: (:c2 —z + 1)2 — (:1:2 +z + 1)2

o Watch Video Solution

114. Prove that: (a + b)® = a® + b + 3ab(a + b)

o Watch Video Solution

115. Prove that: (a — b)® = a® — b° — 3ab(a — b)

o Watch Video Solution

116. Write each of the expanded form: (2z + 3y)*

o Watch Video Solution



https://dl.doubtnut.com/l/_lspsvGuuex7E
https://dl.doubtnut.com/l/_OzzWBmaSJjSp
https://dl.doubtnut.com/l/_84xsF6XA6yMP
https://dl.doubtnut.com/l/_8V4RrDCOF7wT
https://dl.doubtnut.com/l/_eSPd7LsuwXVg

117. Write each of the expanded form: (3z — 2y)*

o Watch Video Solution

3
1 2
118. Write each of the expanded form: | — — —
3z oY

o Watch Video Solution

19, Simplify : (4z + 2)° + (42 — 2y)°

o Watch Video Solution

120. Simplify each : (4z + 2y)° — (4z — 2y)°

o Watch Video Solution



https://dl.doubtnut.com/l/_eSPd7LsuwXVg
https://dl.doubtnut.com/l/_IDcgmKhc6pBi
https://dl.doubtnut.com/l/_nuCtq5hXmE6J
https://dl.doubtnut.com/l/_Vw55vgtiji49
https://dl.doubtnut.com/l/_4CN8Zavo0G1X
https://dl.doubtnut.com/l/_AMKHqUZYbSbh

121.If z + y = 12 and zy = 27, find the value of z> + ¢*

o Watch Video Solution

122.1f ¢ — y = 4and zy = 21, find the value of 23 — g3

o Watch Video Solution

1 1
123.1f z + — = 7, find the value of 23 + —
T T
o Watch Video Solution
1 3 1
124.1f z — — = 3, find thevalue of 2° — —
T T

o Watch Video Solution



https://dl.doubtnut.com/l/_AMKHqUZYbSbh
https://dl.doubtnut.com/l/_As8QtYH4V6wp
https://dl.doubtnut.com/l/_q8y2rZGG8Wth
https://dl.doubtnut.com/l/_D8ZsHYQsrhs8

125.1f 2z + 3y = 13 and zy = 6, find the value of 82% + 2743

o Watch Video Solution

126.1f a + b = 10 and a® + b* = 58, find the value of a® + b*

o Watch Video Solution

1 1
127.1f 22 + — = 7, find the value of z° + —
T T

o Watch Video Solution

1 1
128.1f 22 + — = 83 . Find the value of 2° — —
T T

o Watch Video Solution



https://dl.doubtnut.com/l/_RY7f5RAaqf97
https://dl.doubtnut.com/l/_INIo9Bq6Z6WK
https://dl.doubtnut.com/l/_4XVUoU6lbqKq
https://dl.doubtnut.com/l/_xwb2O2I6jzVi

129. Evaluate: (1002)°

o Watch Video Solution

130. Evaluate: (999)°

o Watch Video Solution

1
1BLIfz? + — = 47, find the value of 3 +1/2°
x

o Watch Video Solution

132. Evaluate: 23 — 173

o Watch Video Solution



https://dl.doubtnut.com/l/_5dctGSM3j5xC
https://dl.doubtnut.com/l/_BewpxDN6FYIt
https://dl.doubtnut.com/l/_W1Nx6R9Zdgo0
https://dl.doubtnut.com/l/_h2pCkxTgIhio

133. Evaluate: 29° — 11°

o Watch Video Solution

134. Find the cube of each of the following binomial expressions:

1y
Wz t3
3 2
W =

Watch Video Solution

v

135. Find the cube of each of the following binomial expressions:

. 3
)2z + —
xXr

4 1
(ii) —3—m

° Watch Video Solution



https://dl.doubtnut.com/l/_2xTGf8U1ao4D
https://dl.doubtnut.com/l/_TtsLRDTrd8hy
https://dl.doubtnut.com/l/_OagLZRWarJ7W

136. Simplify: (z + 3)° + (z — 3)°

o Watch Video Solution

T A AL
137. Simpl :(—+—) - (———)
7.Simplify: {5+ 3 2 3

° Watch Video Solution

2\* 2\*
138. Simplify: — - —
implify (:E—Fw) + <:1: a:)

° Watch Video Solution

139. Simplify: (2z — 5y)° — (2z + 5y)°

° Watch Video Solution



https://dl.doubtnut.com/l/_hCFLIP5tj1fj
https://dl.doubtnut.com/l/_FlyCrA9Itfr0
https://dl.doubtnut.com/l/_onkz2uEgucJn
https://dl.doubtnut.com/l/_jXdjMkUUzIlD

140.1f o + b = 10 and ab = 21, find the value of a® + b*

o Watch Video Solution

141.I1fa — b = 4and ab = 21, find the value of a®> — b

o Watch Video Solution

1 1
142.1fz + — = 5 find the value of z° + —
T 23

o Watch Video Solution

1 1
143.If x — — = 7find the value of 2° — —
T 3

o Watch Video Solution



https://dl.doubtnut.com/l/_WgWmJng0oT4b
https://dl.doubtnut.com/l/_qnX3LqYSgEvr
https://dl.doubtnut.com/l/_jHU8LD2Fhl2t
https://dl.doubtnut.com/l/_hCmVsFkCkxso

1 1
144.1fz — — = 5, find the value of 2> — —
T 23

o Watch Video Solution

9 1 3 1
145.If z° + — = 51, find the value of x° — —
72 73
o Watch Video Solution
2 1 3 1
146.If z° + — = 98, find the value of ° + —
x?2 x3

o Watch Video Solution

147.1f 2z + 3y = 13 and zy = 6, find the value of 82° + 27 ¢*

o Watch Video Solution



https://dl.doubtnut.com/l/_l711M0FrtEbU
https://dl.doubtnut.com/l/_UjxOXDq8BNxx
https://dl.doubtnut.com/l/_WorssbRgISmK
https://dl.doubtnut.com/l/_2eUcybdFTJYt

148.1f 3z — 2y = 11 and zy = 12, find the value of 27 z* — 8°

o Watch Video Solution

1 1
149, If 2* + — = 119, find the value of z* — —
x x3

o Watch Video Solution

150. Evaluate each of the following: (i) (103) (i) (98)* (iii) (9. 9)°

o Watch Video Solution

151. Evaluate each of the following: (10. 4)* (ii) (598) (iii) (99)°

o Watch Video Solution



https://dl.doubtnut.com/l/_yDo5mcSg7xaY
https://dl.doubtnut.com/l/_rTp7i8onJDlw
https://dl.doubtnut.com/l/_hWXk47lC2XxO
https://dl.doubtnut.com/l/_AEJglKU9yWmh

152. Evaluate each of the following: (i)111% — 892 (ii) 46> + 343

o Watch Video Solution

153. Evaluate each of the following: (i)104% + 96 (i) 93° — 107°

o Watch Video Solution

1 1 1 1
154.If z + — = 3, calculate 2 + —, 2® + — and z* + —
x 2 73 74

o Watch Video Solution

1 1 1 1
155.1f z* + — = 194, find 2° + —, z? + — andz + —
X x X Z

o Watch Video Solution



https://dl.doubtnut.com/l/_P7ZmwAUYCxq0
https://dl.doubtnut.com/l/_20gnNiaG5JHg
https://dl.doubtnut.com/l/_NKK8auRbgmlO
https://dl.doubtnut.com/l/_Z7x5NcTvp6se

156. Find the value of 2723 + 8y3, if (i)3x + 2y = 14 and zy = 8 (ii)

14
3z + 2y = 20and zy = 5

° Watch Video Solution

157. Find the value of 64z — 1252°, ifdz — 5z = 16 and 2z = 12

° Watch Video Solution

1 1
158.1fz — — = 3+ 2v/2, find the value of 2% — —
X

° Watch Video Solution

159. Find the products: (z + 3y) (z* — 3zy + 9y°)

° Watch Video Solution



https://dl.doubtnut.com/l/_a67JjYjOYeJE
https://dl.doubtnut.com/l/_6NhPquCICtfm
https://dl.doubtnut.com/l/_awLJCcqoAOnG
https://dl.doubtnut.com/l/_zMN6UzUPeHoG
https://dl.doubtnut.com/l/_nwT9Jx6SIJ6f

160. Find the products: (7a — 5b) (49a” + 35ab + 25b%)

° Watch Video Solution

161. Find the product: (0. 9z + 0. 7y) (0. 81z® — 0. 63zy + 0.49y°)

° Watch Video Solution

162. Find the following products: (9z + 2y)(2z — 3y + 7)

° Watch Video Solution

163. Simplify : 723 4 8y — (42 + 3y) (16$2 — 12zy + 9y2)

° Watch Video Solution



https://dl.doubtnut.com/l/_nwT9Jx6SIJ6f
https://dl.doubtnut.com/l/_43hWJzv8AkHm
https://dl.doubtnut.com/l/_47iWUy6d8k55
https://dl.doubtnut.com/l/_Y6HMzGHpfGUv

164. Simplify: (6m — n)(6m + n)

o Watch Video Solution

165.1f a + b = 7 and ab = 12, find the value of (a2 —ab + b2)

o Watch Video Solution

166.1f o + b = 10 and ab = 21, find the value of a® + b°

o Watch Video Solution

167.1fa — b = 4 and ab = 45, find the value of a®> — b°

o Watch Video Solution



https://dl.doubtnut.com/l/_0izChVfxS6rW
https://dl.doubtnut.com/l/_70mrtNGBbg6A
https://dl.doubtnut.com/l/_BJZrCSrc0VxA
https://dl.doubtnut.com/l/_MMnSBIPkSuOu

168. Find the products: (3z + 2y) (93:2 — b6xy + 4y2)

o Watch Video Solution

169. Find the products: (4 — 5y) (16:1:2 + 20zy + 25y2)

o Watch Video Solution

170. Find the products: (7p4 + q) (49p8 — Tp'q + q2)

o Watch Video Solution

2
171. Find the products: (% + 2y) <% — Yy + 4y2>

° Watch Video Solution



https://dl.doubtnut.com/l/_OCk1HFGDmC6y
https://dl.doubtnut.com/l/_6wfXxic6YViQ
https://dl.doubtnut.com/l/_ri4qRQ5cQcY0
https://dl.doubtnut.com/l/_PfbjQjxrBwm3

, 3 5 9 25 15
172.Find the products: | — — — || — + —& + —
T Y 2 y? Ty

° Watch Video Solution

5 15 25
173. Find the products: <3 + E) <9 - — + —)

° Watch Video Solution

2 4
174. Find the products: (; + 3:1:) (—2 + 92 — 6)
x

° Watch Video Solution

) 3 9 9 4
175. Find the products: P 2z — t 4z* 4 6z
x

° Watch Video Solution



https://dl.doubtnut.com/l/_5TEP7yTCkehb
https://dl.doubtnut.com/l/_4gzFckzAP5xW
https://dl.doubtnut.com/l/_d7OvFBDjbHjN
https://dl.doubtnut.com/l/_BgkE8kqafo2F
https://dl.doubtnut.com/l/_qru3uB0aYs3d

176. Find the products: (1 — z) (1 + z + z%)

o Watch Video Solution

177. Find the products: (i — 2x2) (% + 4zt + 67;)
x x

o Watch Video Solution

178. Find the products: (1 — z) (1 +x+ 332)

o Watch Video Solution

179. Find the products: (1 + z)(1 — = + z?)

o Watch Video Solution

180. Find the products: (x2 — 1) (:c4 + x2 + 1)


https://dl.doubtnut.com/l/_qru3uB0aYs3d
https://dl.doubtnut.com/l/_7lQtORVoCmoc
https://dl.doubtnut.com/l/_4s5WrcpKXdfq
https://dl.doubtnut.com/l/_Eb4RFO4U1VEY
https://dl.doubtnut.com/l/_qTuc0SDIC1FL

o Watch Video Solution

181. Find the products: (:133 + 1) (:1:6 — 2%+ 1)

o Watch Video Solution

182. If £ = 3andy = — 1, find the values of each of the using

identity: (9y° — 42%) (81y* + 36z%y” + 162*)

o Watch Video Solution

183. If t =3andy = — 1, find the values of each of the using

. . 3 z)\/[=z? 9
identity: Zz 3\ 79 + P +1

° Watch Video Solution



https://dl.doubtnut.com/l/_qTuc0SDIC1FL
https://dl.doubtnut.com/l/_s5C5fsJnmeh2
https://dl.doubtnut.com/l/_WkOBTjUbpE2e
https://dl.doubtnut.com/l/_vU4nf1d8ODRw

184. If t = 3andy = — 1, find the values of each of the using

x z? 2 g
identity: (7 + %) (E + % — 2—:;/)

° Watch Video Solution

185. If x = 3andy = — 1, find the values of each of the using
2 2

: : z Y z xy Y

identity: (Z — §) (E + 12 + ?)

o Watch Video Solution

186. If x = 3andy = — 1, find the values of each of the using

, , 5 25 9
identity: = + oz || — — 25+ 252
x

o Watch Video Solution



https://dl.doubtnut.com/l/_rmYaX4PfmfgM
https://dl.doubtnut.com/l/_42f1YAGBSLkS
https://dl.doubtnut.com/l/_x2g6GVlDRq9Q

187. If a+b=10and ab=16 , find the value of

a’> —ab+ b and a®> + ab+ b’

° Watch Video Solution

188.1fa + b = 8 and ab = 6, find the value of a® + b°

° Watch Video Solution

189.1fa — b = 6 and ab = 20, find the value of a® — b

° Watch Video Solution

190. If x = —2andy =1, by using an identity find the value:

(4y® — 92%) (16y* + 362°y” + 81z*)

o Watch Video Solution



https://dl.doubtnut.com/l/_u78BZCHvyiNO
https://dl.doubtnut.com/l/_yo9MElV23e4l
https://dl.doubtnut.com/l/_9XH4M8UrVT7P
https://dl.doubtnut.com/l/_FIGyDgZPas3x

9. If x = —2andy =1, by using an identity find the value:

2 x 4+az2+1
T 2 x?2 4

o Watch Video Solution

192. If y=1, by wusing an identity find the value:

15 ) 225
5y + — | (25¢% — 75 + 222
Yy y?

o Watch Video Solution

193. Find the product:

(:c—l—y—|—2z)(x2—|—y2—|—422 —zcy—2yz—2zx)

° Watch Video Solution



https://dl.doubtnut.com/l/_FIGyDgZPas3x
https://dl.doubtnut.com/l/_iCo5i84epB8k
https://dl.doubtnut.com/l/_lOOV0r2GdvG2
https://dl.doubtnut.com/l/_qGvGFgbPmSVq

194. Find the product:

(22 — y + 32) (4:132 + % + 927 + 22y + 3yz — 6:132)

° Watch Video Solution

195. If a+b+c=6andab+ bc+ ca =11 , find the value of

a® + b + ¢ — 3abe

o Watch Video Solution

196. Evaluate: 30° + 20° — 50°

o Watch Video Solution

197. If a +b+c=15anda® +b* + ¢ = 83, find the value of

a® + b + ¢ — 3abe

| - |


https://dl.doubtnut.com/l/_wXnikVOiEK9a
https://dl.doubtnut.com/l/_kdX8y43Nktuj
https://dl.doubtnut.com/l/_VkEmRKnoF0H3
https://dl.doubtnut.com/l/_TmqcxSpc4T56

| & Watch Video Solution

198. Evaluate: 1. 5° — 0. 9° — 0. 6°

° Watch Video Solution

199. Without actually calculating the cube: ( — 12)° + 7° + 5

° Watch Video Solution

200. Without actually calculating the cube:

(28)° + (—15)° + ( — 13)°

o Watch Video Solution

0. fz+y+2=1 zy+yz+z2r = —1 andzryz= — 1, find

the value of 2% + ¢® + 23


https://dl.doubtnut.com/l/_TmqcxSpc4T56
https://dl.doubtnut.com/l/_w0Ppgm9ACzmO
https://dl.doubtnut.com/l/_lAFwmFFBiBit
https://dl.doubtnut.com/l/_NVIcbKf6mFsM
https://dl.doubtnut.com/l/_8LxmkW3hgx2o

o Watch Video Solution

(a2 _ b2)3 + (b2 _ cz)3 + (02 _ a2)3

202. Simplify:
mpity (a—b)°+(b—-0c)®+(c—a)

° Watch Video Solution

203. Find the product:
(3z + 2y + 22) (9m2 +4y? + 422 — 6y —4dyz — 62x)

o Watch Video Solution
204. Find the product:

(4z — 3y + 2z2) (16.:1:2 + 9y? + 422 + 122y + 6yz — 82x)

o Watch Video Solution



https://dl.doubtnut.com/l/_8LxmkW3hgx2o
https://dl.doubtnut.com/l/_WovAsQCDgo6I
https://dl.doubtnut.com/l/_wWpF7hI5N7z5
https://dl.doubtnut.com/l/_kYZYfcRbWhvF

205. Find the product:

(2a — 3b—2¢c)(4a® + 96> + 4¢° + 6ab— 6bc + 4ca)

° Watch Video Solution

206. Find the product:

(3z — 4y + 52) (92° + 16y° + 252° + 12zy — 152z + 20y2)

o Watch Video Solution

207. If x +y+ 2z =8 and zy+ yz+ zx = 20, find the value of

2 +y° + 25— 3zyz

o Watch Video Solution



https://dl.doubtnut.com/l/_63Ky806p9kx0
https://dl.doubtnut.com/l/_YwA58CSGVkyy
https://dl.doubtnut.com/l/_LkwRJ628sY7X

208. If a+b+c=9 and ab+ bc+ ca = 26, find the value of

a® + b + ¢ — 3abe

° Watch Video Solution

209. If a+b+c=9 and a®> + b+ =35, find the value of

a® + b + ¢ — 3abe

o Watch Video Solution

210. Evaluate: 25° — 75% + 50°

o Watch Video Solution

211. Evaluate: 48% — 30% — 183

o Watch Video Solution



https://dl.doubtnut.com/l/_QZk8lH3WD91J
https://dl.doubtnut.com/l/_37dEG8zSCKd6
https://dl.doubtnut.com/l/_nWeg0W9OYxnk
https://dl.doubtnut.com/l/_MZIcO4XKN1rb

1\° 1\?3 5\°
212. Evaluate: | — — — —
valuate (2) - (3) (6)

o Watch Video Solution

213. Evaluate: (0.2)® — (0.3)® + (0.1)°

o Watch Video Solution

1 1
214.If  + — = 3, then find the value of 2% + —
x x

o Watch Video Solution

1 1
215.1f £ + — = 3, then the value of 2% + —6is.
T x

o Watch Video Solution



https://dl.doubtnut.com/l/_MZIcO4XKN1rb
https://dl.doubtnut.com/l/_DTlHwomoIUJV
https://dl.doubtnut.com/l/_diDO79pV8Auu
https://dl.doubtnut.com/l/_ZqfovnweX4IX
https://dl.doubtnut.com/l/_ks4zDEmSBn79
https://dl.doubtnut.com/l/_8edgV1vxe0Iv

216.1fa + b = 7 and ab = 12, find the value of a* + b?

° Watch Video Solution

217.1fa — b = 5and ab = 12, find the value of a® + b?

o Watch Video Solution

1 1 . 9 4
218.If x — — = — ,then write the value of 42~ + —
T 2 x2

o Watch Video Solution

1 1
219.1f a® + — = 102, find the value of a — —
a a

o Watch Video Solution



https://dl.doubtnut.com/l/_8edgV1vxe0Iv
https://dl.doubtnut.com/l/_tWO5UMmhBqlF
https://dl.doubtnut.com/l/_jIP9WthRN4N7
https://dl.doubtnut.com/l/_aSvtMHbDAaMd

a? b? c?
220.1fa + b+ ¢ = 0, then write the value of — + — + —

be ca ab

o Watch Video Solution

1 9 1
221.ifz + — =5, thenz” + — =7
x x

° Watch Video Solution

1 1
222. If x + = = 2, then z® + — = ? (a)64 (b) 14 (c) 8 (d) 2
T

° Watch Video Solution



https://dl.doubtnut.com/l/_VQHxDdLn3FEn
https://dl.doubtnut.com/l/_v8zTDVFuY8x1
https://dl.doubtnut.com/l/_L2dSZl4C0dGt

1 4 1
223.Ifx + — =4, thenz™ + — = ?
T a:4
(a)196
(b) 194
(c) 192

(d) 190

° Watch Video Solution

1 6 1
224 If x + — = 3, thenx” + — =7
X ;136
(a)927
(b) 414
(c) 364

(d) 322

o Watch Video Solution



https://dl.doubtnut.com/l/_KriReobqX4xe
https://dl.doubtnut.com/l/_jL6Vkk2rujxZ

1 1
225.1f 2t + — = 623, thenz + — = 7
x x

(c) 34/3
(d) —3,/3

° Watch Video Solution

, 1 1
226.If x* + — = 102, thenx — — = ?
x2 x

o Watch Video Solution



https://dl.doubtnut.com/l/_xW5REB6w9B9V
https://dl.doubtnut.com/l/_YINr1J9rarDw

1 1
227.1f 2® + — = 110, thenx + — = ?
x x

(d) none of these

° Watch Video Solution

1 1
228.1f 3 — — = 14, then z — Pl ? (a@)5(b) 4 (d)3(d) 2
x

o Watch Video Solution

1 1 1 1
229.1fz* + — =194, find2® + —, 2> + —andz + —
$4 x?) x2 T

° Watch Video Solution



https://dl.doubtnut.com/l/_5ofGJBopimFK
https://dl.doubtnut.com/l/_KpWcx7gXxnc3
https://dl.doubtnut.com/l/_10xnPzBqjX4X

1 15 1
230.Ifx — — = —, thenz + — =7
x 4 x

o Watch Video Solution



https://dl.doubtnut.com/l/_OkjkClePvYPT
https://dl.doubtnut.com/l/_y20ghjonDjjk

232.1fa® + b? + & — ab — bec — ca = 0, then
(@)a +b=-c
(b)b+c=a
(cde+a=0»

(da=b=c¢

° Watch Video Solution

a®> v

233.Ifa+b+c¢c=0,then — + — + — = 7

be ca ab

o Watch Video Solution



https://dl.doubtnut.com/l/_Jgja1eibh7qp
https://dl.doubtnut.com/l/_AzH0o83XMmNV

234, If ai+ bi+ ci =0 , thent? (@a-+b+c=0 (b)

(a—l—b—i—c)3 =27abc(c)a+b+c=3abcda®+3+2 =0

° Watch Video Solution

235.1fa +b+c=9andab+ bc+ ca = 23 ,thena®> + > + % = ?

(c) 127

(d) none of these

o Watch Video Solution

236. If a+b+ec=9 and ab+bc+ca=23 , then

a® + b + ¢ — 3abe = ? (a)108 (b) 207 (c) 669 (d) 729

o Watch Video Solution



https://dl.doubtnut.com/l/_5rOo0CUMswC0
https://dl.doubtnut.com/l/_eEf9JUn5lKbv
https://dl.doubtnut.com/l/_8W8RFnhCPaaV

237.(a - b3+ (b—0)®+(c—a)* =7
(@(a+b+c)(a® + b + ¢ — ab— bc — ac)
(b)3(a — b) (b — ¢)(c — a)

(©)(a —b)(b—c)(c—a)

(d)none of these

o Watch Video Solution

(a2 —82)° + (12 — @)® + (2 — a?)’
(a—b)?’—k(b—c)?’—i—(c—a)3

238. Simplify:

o Watch Video Solution

239. The product (a + b)(a — b) (a2 —ab+ b2) (a2 +ab+b%) is
equal to:
(@)a’ + v°

(b) a® — b°


https://dl.doubtnut.com/l/_tQxEk72w7Yxg
https://dl.doubtnut.com/l/_sj3C5fEoAvRx
https://dl.doubtnut.com/l/_8lSoh4yhDkDX

(c)a® — b®

d)a® +0°

o Watch Video Solution

24O.If%—|—2: — 1, thena® — 6% = ?
a

° Watch Video Solution

241. The product (z? — 1) (z* + 2% + 1) is equal to:

(a)x® — 1
(b) z® +1
(c)xb — 1

(d) 2% + 1


https://dl.doubtnut.com/l/_8lSoh4yhDkDX
https://dl.doubtnut.com/l/_gbki2mcaOB1Z
https://dl.doubtnut.com/l/_UWvKiT2tIafe

o Watch Video Solution

242.1fa —b= —8 and ab= — 12, thena® — b = ?
(a)—244
(b) —240
(c) —224

(d) —260

o Watch Video Solution

243. If thﬁaw; : a9 = Lty 5(xz + 4) then all possible values of a
are

(i) 2,3

(ii) -2, 2

(iii) -1, 1

(iv) -3,3

I o Watch Video Solution


https://dl.doubtnut.com/l/_UWvKiT2tIafe
https://dl.doubtnut.com/l/_BGMdnthdne9B
https://dl.doubtnut.com/l/_R3LngvnRPj1z

244.If%—|—2 =1, thena® + b = ?
a

° Watch Video Solution

245.75 X 754+ 2 x 75 x 25+ 25 X 25is equal to=?
(a)10000
(b) 6250
(c) 7500

(d) 3750

o Watch Video Solution



https://dl.doubtnut.com/l/_R3LngvnRPj1z
https://dl.doubtnut.com/l/_qKVsFgnA3Bue
https://dl.doubtnut.com/l/_d8mzwPfy1lEw
https://dl.doubtnut.com/l/_tBnBPCsxwfFc

246.(z — y)(z + y) (z® + ¥*) (z* + y*) is equal to=

A 16 _ y16
B. 2% — y8

C.z8+ y8

D. z'6 + y16

Answer: B

o Watch Video Solution

1 1
247.1f 490 — b = <7a + 5) <7a — 5), then the value of b is =?

o Watch Video Solution



https://dl.doubtnut.com/l/_tBnBPCsxwfFc
https://dl.doubtnut.com/l/_gebhCCTVkeke



https://dl.doubtnut.com/l/_gebhCCTVkeke

